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Instruction : First 15 munutes are allotted for the

candidates to read the question
paper.
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All questions are compulsory.

Question No. 1 is Multiple Choice
Type with four options for each
part. Choose the correct option
and write in the answer-book.
Question Nos. 2 to 6 are Very
Short Answer Type to be
answered in a maximum of
10 words each. Question Nos. 7
to 11 are Short Answer Type
to be answered in a maximum of
100 words each. Question Nos.
12 to 14 are Long Answer Type
which are 10 be answered in a

maximum of 300 words each.

Marks allotted to the questions
are mentioned against them.
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( Multiple Choice Type Questions )
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iv)
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Select and write the correct answers for
the following questions in your answer-
book -

i)

ii)

What should be the diet for an
infant ?

a] Glucose

bl  Mother's milk
c) Honey

d] Barley water.
Flood damages

a) crops

b) house

¢) roads and railways
d) all of these,
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iv)
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What is Hindu Marriage ?

a) Social contract

b) A religious sacrament

c) Association

d) None of these. 1

In which year was the ‘Anti-Dowry

Act' passed in India ?

a) 1961
b) 1972
c) 1981
d} 1956. 1

The main problem of adolescence
is

a) discipline

b) home
c) service
d} none of these. 1
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( Very Short Answer Type Questions )
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2. Write the general symptoms of

pregnancy. 1
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Give two suggestions to abolish child
marriage. 1

4. T &%
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4.  What is essenti
. ¢ ial to keep (j
children balanced ? P
5 HmEmE oy 1
5.  What is income ? |
6. IRER e = 3 - 1
| T
6. What is family planning ? 1
( oY 37wy )
.( Short Answer Type Questions )
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7.  What are the i
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oy 5 slcs of Joint
2
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8. Whalt is meant by family budget ? Write
the utility of budget. 1+1
9 TeW ¥4 &% snw fafEy | 2
9. Write down the causes of dowry system.
2
0 f&=l gt I F 9 o =% v & 5
fefae | T+1
10.  Write the names of any (wo vaccines
and their schedule. 1+1

1 ATEE A WA ING YA E 7 2

Il. What is the effect of childhood on
personality ? 2
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( Long Answer Type Questions )
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13.

13.

14.

14.

8
What is hygiene ? Write about the
personal hygiene. 2+3
OR

What are human needs ? How are these
needs fulfilled by family ? Explain.
2+3
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“Joint family is an important tool of
social control." Describe. 5
OR

Describe the role of mother in reducing

the infant mortality rate. 5
Frfrf & 9 foheel S o e oot fefa
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Write short notes on any twe of the

following - 2 é + 2 ;

al  Weaning :

b) Causes of frustration

¢) Family expenditure.
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